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Trigonometry

) Perpendicular
sin B8 =
Hypotenuse
B
cos B = __oae
Hypotenuse
tan 6 = Perpendicular
Base
1
cosec B = —
sin @
1
sec B =
cosd
1
cot B =
tan @
N T sin @
cosd
cot B = C?Se
sin @

If in a circle of radius r, an arc of length | subtends and angle of 6 radians,

then
.l=r8e

Radian measure = n / 180 X degree measure

Degree measure = 180 / n X radian measure

cos’ A +sinA=1
1+ tan? A = sec’ A

1+ cot? A = cosec’® A

cos (X +y) =cosxcosy-sinxsiny
cos (X —y) =cos xcosy + sinxsiny
sin (X +y) =sinxcosy + cos xsiny

sin (x —y) =sinxcosy - cos xsiny
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+ —
COS X + Cosy = 2cos(x Zy}COS(xzyj

COS X — COS Y =—25in(x;yj.sin(x;y)

sin x + siny = 2sin(x+yj.cos(x_yj
2 2

sin x —siny = 2cos(x+yj.sin(x_yj
2 2

2C0S X COS Yy = €0S (X+ y) + cos (x-vy)

-2sin x siny = cos (X + y) — cos (x - y)
2sinxcosy =sin (x +vy)+sin(x-y)

2cos xsiny =sin (x +y) —sin (x - y)

tan x + tan
tan (x+y) = (tan x Y)
(I—-tan x.tan y)
tan x — tan
tan (x-y) = (tan x Y)
(1+ tan x.tan y)
cotx.coty—1
cot (x+y) = - y=D
(cotx +cot y)
cotx.coty+1
cot (x-y) =( s y+D
(cotx—coty)
COS 2X = C0S2 X —SiN2X =2c0s2x-1=1-2sin2x =

) ) 2tan x
Sin 2x = 2 sin X Cos X = —
(1+tan” x)
2tan x

tan 2x = —
(I—-tan” x)

sin 3x = 3sinx - 4sin’ x

cos 3x = 4cos® x - 3cos x
3tan x —tan” x

tan 3x = ( )

(1-3tan” x)

_ (I-tan’x)
(1+ tan” x)



TABLE:

0° 30° 450 60° 90°
Sin 8 0 1/2 1/V2 V3/2 1
Cos 6 1 V3/2 1/V2 1/2 0
Tan 6 0 1/V3 1 V3 Ioe)

Cosec 6 oo 2 V2 2/V3 1
Sec 1 2/V3 V2 2 0
Cot 6 o V3 1 1/V3 0




